R#7FALN XFHX R#ESE® A SY9L o1

1. XORXRZHNESEEX. (SHE15108, A2, B34, CH45310%)

(1) 322+32-90 (2) —22 —13zy — 36y>
(3) 64> — 163> (4) a’z? — 4ax + 4

(5) ab—a—-b+1 (6) 0.1z — 0.8z — 2

(1) a*-1 ®) 2*+2y+yi+a+ty
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2. RXROAXZRESHEX. (SH1710%, A2y, B#3, CH4sr108)

(1) 42? +42-80 (2)  —22 — 20xy — 36%>
(3) 1622 — 64y (4)  a?b*2® — 2abz + 1

(5)  ab—2a—b+2 (6) 0122 -13z-3

(7 a* — bt (8) 22 —2xy+y?—x+y
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Re7FALN XFX R#ESE WA S09L 01 BRERES

1. XORXRZHNESEEX. (SHE15108, A2, B34, CH45310%)

* RAICRALHHTL 3.

(1) 322+43x-90 (2) —2? — 132y — 363>
=3(z% 4z — 30) = — (2% + 13zy + 36y?)
— 3(x +6)(z — 5) — (2 + 4y)(x + 9y)

(3) 64z — 163> (4) ar? — dax + 4
= 16(42? — y?) = (ax — 2)2

=162z + y)(2x — y)

5) ab—a—-b+1 6) 0.1z - 0.8z —2
=ab—-1)—(b-1) = 0.1(z% — 8x — 20)
=(a—1)(b—1) =0.1(z + 2)(x — 10)

(7) a* —1 (8) 2242y +yl 4y
= (a® +1)(a® - 1) =(@+y)?+(@+y)
=(@?>+1)(a+1)(a—-1) —A24+ A

=A(A+1)

=(x+y)(z+y+1)
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2. XORXZHREOGMEEL. (SH1510%8, A2, B3, CH4510F)

(1) 42? +42-80 (2)  —22 — 20xy — 36%>
=4(z% + z — 20) = —(2? 4 20zy + 36y°)
—4(z+5)(x — 4) — (x4 29)(x + 18y)

(3) 1622 — 64y° (4) a’b?x? — 2abx + 1
= 16(2? — 4y?) = (abx — 1)2

=16(x + 2y)(xz — 2y)

(5)  ab—2a—b+2 (6) 0122 -13z-3
=a(b—2)—(b—2) =0.1(z? — 13z — 30)
=(a—1)(b—2) =0.1(z + 2)(z — 15)

(7) a* — b 8) x2—-2zy+y>—z+y
= (a® +b%)(a® - V?) =(@-y)?—(r-y)
= (a? + b?)(a + b)(a — b) =A%2-A

— A(A-1)

=(xz—y)(z—y—1)
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